LS = gL
L

JE—

ZR? 112 § &

BE%- 8 Fsregyi i

e 905
# B i A
. AREAG3 EFHRTIBZLFESREIEYRAE -
2.%ﬁ%i%ﬁiﬁé%i%%iﬂ’ﬁéiﬁﬁﬁ%ﬁgg
Frmigd | £ B NEE P B Y
ELIFH 3. iy séft“”bmﬁ B A ~BRAFLIEGEHEY o
4, R FERNE FEFEE BEFLRP SR -
b, MEF R &1, UE KRB EES L o
1. =p T7:30 =54 p & -
2. MR EHILRWMER > FPGREE L RFHR L wH 2
é,fﬁ,p;r_ °
FL% A 5 | 3. uw»é‘} TR TR o
4, #%F%?é%“‘??‘\f'ﬁ‘i PR HRE e
FTHRER (b, FHFAHpe PPl FRINE o 284~ 7 Beh7 o
* 5 1 ="t E:Xﬁﬁ% %z iRy | e ot
TETE 9/5(= ) ~ 12/21(Cz ) ~ 2/21(=) ~ 4/18(e ) ~
9/6(=) 12/22(3 ) 2/22(z ) 4/19(3 )
1k 3 - % - B ¥
PEREEZF DR AR R
» ARV -2
o b3t & 5 FE L enp R
R Rz 3 4w
7 Arip g
* Edﬂ%ii{«”*—”rmﬁ‘ﬁr
TR REARTRBEAT B L
FiBE REFEFWRFEGEY ot Ep L= gk
KT Fit 25333888*230—234

e

i

FIATH

25333888%257




